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1.
Solutions

(i) The given bar graph shows the marks obtained by a student in four different subjects

(ii) The bar represents the marks obtained by a student in Science is the lowest. Hence, the student is poor
in Science subject

(iii) The bar represents the marks obtained by a student in Mathematics is the highest or the height of the
bar is high in Mathematics. Hence, the student is best in Mathematics subject.

(iv) He scored 55 marks in Hindi and 70 marks in Mathematics. Hence, the student scored more than 40
marks in Hindi and Mathematics.

2.

Solutions

(i) The given bar graph gives the information about the number of members in 60 families of a colony.
(i) There are 10 families who have 3 members.

(iii) There are 5 couples who do not have children

(iv) Since, the bar shows the families having four members has the highest height. Hence, the families
having two children are the most common.



